L-210 DILLINGHAM, ALASKA VEGETATION AND LAND COVER Western Portion L-210 DILLINGHAM, ALASKA VEGETATION AND LAND COVER Eastern Portion

PERCENT LAND COVER BY TOWNSHIP: Area totals in Acres and Hectares* PERCENT LAND COVER BY TOWNSHIP: Area totals in Acres and Hectares*
Township and Range Range Range Range Range Range Range Range Range Range Town- Township and Range Range Range Range Range Range Range Range Range Range Town-
Land cover class 58 W 57 W 56 W 55 W 54 W 53 W 52 W 51 W 50 W 49 W ship Land cover class 48 W 47 W 46 W 45 W 44 W 43 W 42 W 41 W 40 W 39 W ship
1AV 3.0 - 4.4 - 1.8 = 1l - 4.8 - 1.9 = 2.3 - 7.2 - 1.2 = IA IV 4,2 - 0.8 - 0.2 - - - - - - - 4, - 1.3 = 3.8 = 0.4 -
1BV - - 9,7 = 8.5 = 2.7 - 3.4 - [10.2 - 0.5 - |14,0 =~ [16.3 = 18V 3.8 = 9.8 = 1.0 = - - - - - - 1l - ol - 1.2 - - -
Ic 0.7 19.1 19,3 4.8 12.6 18.8 61.4 36.5 29.4 IC 19,2 24.2 4.7 0.l - - 10 2.0 20.5 2.8
1A VIA 57.6 = 8.9 - |[l0.8 =~ 0.5 =~ 0.1 = |17.0 = 0.2 = 0.9 - 0.4 = 1A VIA - - - - - - 8.9 -~ 7.2 = - - - - 6.1 - 0.2 = 0.2 -
T us vis 22,4 - (43,9 - [l14.8 - 4.9 - 5.7 - |24.9 - 0.7 - 3.2 - (41,2 - T T 118 viB |65.4 - [57,3 - |87.2 - |[82,3 - |67.8 - [87.8 =~ (70,1 - [83.2 - |70.8 - [92,2 - T
VIIA - - 34,8 82.6 54.6 15.4 5.7 )2 - VIIA 0.6 3.1 0.l 0.2 0.3 4.0 6.2 0.l 0.7 0.3
2 A viie - 0.3 - - - - - 0.l - 0.6 - 0.l - 1.3 - 0.3 - - 2 2 1navigl - - - - - - - 0.l - - - - - - - - - - 2
g 1B 1.8 9.8 10.0 3.0 17.8 9.1 27.8 36.7 1.4 S g I8 6.7 4.5 6.3 3.3 1.l 7.7 7.6 0.9 1.5 4.0 S
1ic v - - - 0.l - - - - - - - - - - - - - - e vin| - - - - - - - 1.0 - 9.4 - 0.2 - - - 0.l - 0.5 - -
111D 11X - 13,9 - 3,5 - 0.l - 0.2 - 0.3 - 1.9 - - - - - - 111D IX - - - - - - - 0.8 - 0.l - - - - - - - 0.3 - -
1IE 0.3 0.4 - - - 0.6 - - - 1IE - 0.2 0.6 3.3 4. 0.2 0.l 5.0 0.5 0.l
Acres 1,150 6,840 12,262 12,367 12,442 12,454 9,784 9,631 12,373 Acres 12,312 12,381 12,297 12,411 12,064 12,389 12,359 12,343 10,716 4,321
Hectares 466 2,768 4,963 5,005 5,035 5,040 3,960 3,89 5,007 Hectares 4,983 5,011 4,977 5,023 4,882 5,014 5,002 4,995 4, 1,749
1A IV 0.1 = 2.3 - 2.0 - 2.0 - 5.0 =~ [11.6 =~ |48,2 = 6.8 = 4.3 - 1A IV 6.5 = 0.6 = - - - - - - 0.l - [20.7 =~ 2.8 - 0.2 - 1.6 =
1BV - - 1 - 1.0 = 8.3 - 8.8 = 4.9 - 1.4 = 6,6 - |[12.,0 =~ 1BV 0.8 - 4,3 - 0.2 - - - - - 0.5 = 9.3 = 0.1 = - - - -
Ic 3.7 3.0 17.4 3.1 48 .8 8.5 34.2 35.4 Ic 50,3 1ol 0.2 - 0.1 0.9 5.2 5.1 0.5 6.1
1IA VIA 57.1 = [25.5 =~ [23.6 - [21.7 - [11.4 - 3.4 - - - - - [ 11A VIA - - - - 0.4 - 0.4 - - - - - 0.1 = 0.1 = [17.3 = - -
T e vie . - |14.8 0.1 [30.3 - (38,5 - [37.0 - 6.2 = 0.8 = |18, = [25.,3 = T T 118 viB |34.3 - |[87.9 - |[89,7 - |[90.2 - (92,2 - 91,8 - |28,8 - (84,8 - [69.,4 - [79.7 - T
3 VIIA 37:2 45.6 377 2.7 20.2 24l 4.4 2.0 1.7 3 3 VIIA 4.0 1.8 3.0 2.0 2.5 4.8 15.5 0.3 0.l 0.3 3
I11A VIIB - - - 0.l - - - 0.1 - 0.3 - 0.7 - 0.9 - 1.0 - 0.6 111A VIIB = 1.0 - - - 0.8 - 0.3 - - - - 0.1 - - - - - -
S 11IB 1.4 2.5 0.2 6.2 1.4 21.5 35.6 31.2 19.7 S L 3.2 2.8 5.6 6.4 4.6 0.8 18.9 1.6 147 12.2 S
tic vin = = - 0.l - = = - - - - - - - - - - - tic viny| - - - - - 0.l - - - 0.2 - - - - - 0.l - 0.2 - -
11D IX - 2,5 - 3.9 - 1.9 - 3,0 - 2.4 - 0.8 - 0.2 - - - - 111D IX - - - - - - - - - - - - - - - - 0.8 - -
11E - 0.3 0.2 0.l 0.4 - - - - 11E - 1.5 0.l 0.7 0.4 1.0 1.5 4.9 3.9 0.l
Acres 1,868 22,940 22,574 22,799 17,972 19,298 12,506 22,931 22,931 Acres 21,343 20,943 22,679 22,936 22,942 21,401 5,652 22,946 22,555 7,973
Hectares 756 9,28 9,136 9,227 7,273 7,810 5,061 9,280 9,280 Hectares 8,637 8,476 9,178 9,282 9,285 8,661 2,287 9,286 9,128 3,227
1A 1V 2.8 - 2.4 - 5.3 = 0.8 - - - 5.6 - - 3.0 - 0.4 - 1A v |17 - 0.6 - 0. = - - 3.0 = |17.9 - 0.1 - 0.5 =~ - - - -
[1:] v - - 0.3 - 1.9 - 5.4 - 0.5 - 4.6 - 13,1 - 17,3 - 1.2 - 1B v 8.6 - 4,5 - 3.4 - - - 3.1 - 1.6 - 0.l - - - - - - -
Ic 0.3 2.7 18,5 I.+2 0.5 41.2 54, 44,1 32.9 Ic 44, 6.7 9.2 - 8.l 10.9 0.9 2.6 0.l -
1A VIA 58,2 - [36.4 - (44,2 - (39,8 - |24,5 - 0.7 = lel = 0.8 = 0.7 - 1IA VIA - - 5,5 = 7.0 = - - 0.2 = - - - - |36.5 - [19.9 =~ 7.3 =
T ne vis 19,6 0.3 |20.0 1.2 | 1.9 0.l |36,7 =~ |60.9 = (32,5 - (14,1 = |20, - |26 - T T 118 vie|i18.2 - [76.2 - |a44.7 - |94 - |72.7 - |31.2 - (83,5 - |20,1 - |70.3 - [84.8 - T
4 VIIA 2,7 20.4 12,2 8.9 1.1 1.6 0.3 0.1 0.2 4 4 VIIA 5.2 2.3 6.4 0.4 5.4 15.2 2.1 - - 0.3 4
I1IA VIIB - - - 0.l - - - (O} - - 0.5 - 0.2 - - - 0.l 111A VIIB - 0.8 - - - 2.2 - - - - - - - - - - - - -
S s 4.1 !.8 2.5 4.5 7.5 12.4 9.2 14.4 28.5 S S 1. 1.2 2.4 25,7 5.4 7.3 21.6 2.0 2.8 1.2 1.2 S
1Hic vini - 0.l - 1.3 - - - - - - - - - - - - - - 1ic vini - - - - - - - - - - - - - - - 2.5 - 0.7 - 0.3
111D I1X - 10,6 - 12,2 - 0.6 - 2.2 - 0.l - - - - - - - - 111D 1IX - 5 - 1.5 - 0.5 - - - - - - - - - 0.5 - 7.0 - 0.5
1IE )2 1.1 2.7 0.5 4.7 0.9 - - - 1IE - 0.3 0.8 - - 1.6 1.2 34,5 0.9 5.7
Acres 2,124 22,382 18,782 20,804 22,822 22,988 22,995 22,989 22,250 Acres 22,991 22,998 4,573 22,216 22,995 4,527 22,999 8,042 21,285 8,078
Hectares 860 9,058 7,601 8,419 9,236 9,303 9,306 9,304 9,005 Hectares 9,305 9,307 1,851 8,991 9,306 1,832 9,308 3,255 ,614 3,269
1A IV 2.8 = 4.6 - 2.5 - 3.4 - 4.2 - 4.4 - 0.8 - 3.4 - 0.5 - - - - - - - - - - - -
BV 0.3 - |10 - [2370 - |20:2 - |6 - | 707 - |67 - [10 - |oB - 1A v 108 o 148 s 193 Z |83 - |03 - lel - % |z oz |z =
Ic 1.7 18.5 2.0 52.9 49.9 21.6 1.7 4.3 25.4 Ic 281 o 7% 204 3°7 7°9 0.8 - -
LIA VIA 39.7 - (30,1 - (28.8 - 3.6 - 0.8 - 4.2 - [12,6 =~ 0.5 = 0. - 1A VIA . - 2 - 0.4 = ks s P - - - 0.2 = 4.4 - 6. =
T 118 VviB 19,1 0,9 (18,0 0.3 |19.2 0.l 15.7 - 27. - 57.0 - 68,2 - 78.0 - 54,7 - T T 11B VIB |61.2 = 68.3 = 80,0 - 61.9 & 91,1 - 86,7 - 81,2 - 68,2 - 73 .4 - T
VIIA 8.9 1.7 17.0 2.9 1.6 - - - - M 0.3 5.6 3.3 6.4 0.6 - 0.1 0.3 0.3
5 1A viie - 0.3 | - 0.l - 03| - 03| - 0.2 - = - - - - - - 5 5 . e - o3| - ol - o - 2 - - - 2 - z e 5
1118 0.2 2.3 2.6 0.5 8.6 3.5 8.2 12.7 18,1 11IA V1B . . .
S o2 |l 2 | - . .= . = : : : : S g 1B 5.0 5.7 4.2 0.8 2.8 2.9 4. 1.2 2.0 s
tic viti - . - 0. - - - = - - - - - - = 1ic viny| - - - - - - - - - - - - - 0.3 - 0.2 - 0.l
111D 11X - 23,1 - 1.2 - 4.0 - 0.3 - - - 0.5 - 1.8 - - - - LD IX - - - - - - - - - - - - - 2 - : - ool
11E 1.8 1.9 0,7 0.3 0.7 1.2 - - - 1IE - 0.3 0.8 0.l 0.2 1.0 13.0 25,7 18,0
Acres 15, 20,925 19,272 21,920 22,810 22,822 19,735 15,370 21,234 Acres 22,292 22,820 22,820 21,276 22,805 22,825 22,497 22,828 21,731
Hectares 6,101 8,468 7,799 8,871 9,231 9,236 7,987 6,220 8,593 Hectares | 9,021 9,235 9,235 8,610 9,229 9,237 9,104 9,239 8,794
1A 1V 3.2 - 3.2 - 3.5 = 4.8 - 8.4 - 0.6 = - - - - 0.1 = - N S - . - - - = = - - - - . -
18V e I T B S 1K Y O U e N (PG I D P lga el oellid < jes T |2 = |= = |= =[= == =
IC 0,2 7.0 33.1 59.3 56.8 44,1 0.l 5.1 Ic 3:5 2.0 3,2 0.8 - - - - 0.
1IA VIA 35,5 = [25.8 = 0.9 = - - 0.3 =~ [18,5 = |21 = 0.2 - 0.4 - 1A VIA 2 - N = 0.2 - M - - - 1.9 = 3.9 - |is.8 - 19 -
T 11B VIB 14,4 7.5 [10.1 oO0.1 [14,3 - [18,7 = |21,8 = [I1,0 = [65.,0 0.2 |91.2 =~ |[87.,5 =~ T T 118 viB [91.6 - [87.3 - |[65.4 - [90.1 = 95,2 = [90.9 - [82,3 =~ (16,0 =~ [71.0 = T
VIIA 5.1 39.9 32.3 3.3 2.3 0.1 0.l - - VIIA 0.7 2.8 7.4 1567 0.4 0.2 - 1.9 0.4
6 111a VI8l - 03| - "0 | - 0.2 - 0.2 - 08| - 0| = 0| - = - - 6 6 siaviel - - - 06l = o] - = = @ = ® W om = B | =. = 6
g 8B 2.3 2.9 14.6 12,2 1.6 4,1 4.5 3.2 5.6 S L 4.0 6.9 8.9 4.9 0.l 0.l 1.2 9.6 2,1 S
tric vin - 0.7 - 0.l - - - - = - - - - = = - = = e vin| - - = = - - - - - - - 0.5 - 0.4 - 0.l - 0.3
111D 1X - 28,8 - 5.1 - 0.l - - - - - 1.0 - 5,0 - - - - 111D 1X - - - - - - - - - - - - 0.3 - oo - 0.2
1IE 2.1 0.2 - - - 8.3 4,1 5.3 0.2 1IE - 0.l 0.l 0.3 4.4 6.3 11.8 53.3 24,0
Acres 14,461 22,868 20,816 20,365 20,051 1,187 22,877 22,429 22,878 Py— 22.878 22.880 17.716 21.257 22.720 22.585 22.886 9.377 17.795
Hectares 5,852 9,255 8,424 8,242 8,115 4,528 9,258 9,077 9,259 Hectares 9,259 9,259 7,170 8,603 9,195 9,140 9,262 3,795 7,202
1AV 5.2 = 3.7 - 1.4 = 3.4 - 5.5 = 7.6 = 1.0 = 0.1 - - - - - - - - - - - N - = = . - -
BV 1m0 - [0 - |98 - 183 - |59 - [12:7 - [0 - - e - Wl Toled 2% T e = : o oz SO (S
Ic 9.5 18.6 21,9 40.4 44,6 56 .9 7.5 0.2 0.8 IC 1.0 0.9 6.2 0.7 - - - - 0.5
1IA VIA 29.1 - 0.9 - - - 0.1 = 0. - 2.1 - 2.5 = 0.4 -~ 0.5 =~ 1A VIA b - 01 - 2.1 - : - - - - - 2.4 - [15.8 = 40 -
T 1is vis 9.9 0.6 110:6 - |14e4 = |IT.4 = 12950 = | 2.8 < |78,3 = [90.2 = |97 = T T 18 vie [95.9 - |[93.8 - (1205 - [94.3 - o1 - fo1.9 - [Bl.0 - |66.5 - [16.6 - T
VIIA 23,4 50.8 41,1 12.5 3.5 0.7 0.2 0.l - VIIA - 0.4 4.0 0.7 N 3.3 2.0 0.7 4.7
7 inavis - 0.2 - 0.4 - - 0.3 - 0.6 - 0.2 - 0.l - 0.l - 0.l 7 7 - - - 2 - 2 - - o - o - 2 2 2 7
1IIA VIIB 0.3 0.l . .
§ Mls Ol Big6 et g 10.8 5.3 3.4 At pe S S 1118 2. 3.9 5.9 2.7 2.6 0.5 3.1 1.9 12,7 S
Hc vin - 0. = - - - - - - - - - - - - - - - e vin| - - - - - - - - - - - - - - - 0.6 - 0.l
11D 1X - 9.7 - 0.4 - - - 0,3 - - - - - - - - - - 111D 11X - - - - - - - = - - - < & % < - 0.1
1IE l. 0.2 - - - 15 3.9 4,2 1.2 11IE 0.3 - 0.4 1.6 6.3 4,2 11,5 14,3 1.1l
Acres 15,366 20,606 22,945 22,930 22,936 18,312 22,936 22,935 22,885 22.940 22.939 22.754 21.902 22.945 22.947 19.690
Hectares 6,219 8,339 9,286 9,280 9,282 7,411 9,282 9,282 9,262 Hootares | 51263 25:282 9,284 9,283 9,208 8,864 9,286 9,287 7,969
1AV 4.6 - 0.6 = 2.1 - |14.4 - 7.9 = 9.2 = 4.3 - - - 0.2 - L - - R - - - - - - - - . -
BV 2402 - 2200 - 1417 - 2807 - |15 - (2804 - |48 - [o0. - |2.1 - i dv 198 Cog = pod 2z ozl oz2lE oz lem Zolem o Zojem =
Ic 41.8 16.7 31.2 10.8 67.4 4.5 29.8 0.4 3.7 Ic 60.9 22°8 0.7 - - - 0.1 1.6 276
1A VIA 21.5 - (28,5 = 0.5 = 0. = 0.5 -~ 6.2 = 1.1 - 0.1 - 0.3 = 1A via | ols - 20 - ol - - - - - 0.1 - 0.3 - 0.3 - 2 -
T 118 vie 3.6 = 5.0 0.1 (16,0 = [20.,2 - 9.1 - |13.9 - |47,0 - |97.8 = [90.3 - T T 118 vis |29; - ls9i2 < le2:0 - les.4 - l81.3 - |st.9 - 157 - 60 - [17.9 - T
8 VIIA 3.1 21.9 24.8 3.5 4.1 0.3 0.2 - - 8 8 VIIA 0.3 4,0 2.4 2.2 6.5 3.7 0.9 12.8 10,7 8
11IA VIIB - 0.5 - 0.2 - 0.3 - 0.7 - 0.2 - - - - - - - 0.4 1A viiel - g - 0.1 - - - 0.l - b - 2 s 2 - pd
S 1. 0.3 1.4 10.4 21.6 9.4 37.5 12.% 1.2 1.8 s S 1. 2.9 0.3 4.0 8.3 10.5 9.5 3.2 6.3 7.3 S
1ic vin - - - - - - - - - - - - - - - - - 0.l e vin] 27 - >~ & £ = Z = - prag - = = 0,8 | = =
111D IX - 0.l - 35 - - - - - - - 0.l - - - - - - 111D 11X & - - - - - & - - - - - - - - - - -
1IE 0.3 0.l - = - - 0.l 0.4 1.0 1IE 0.9 0.2 0.4 - 1.6 4.7 19.6 12,1 0.8
Acres 11,824 21,576 22,978 11,666 19,614 16,322 22,941 22,971 22,996 Acres 6,236 22,318 21,418 22,998 22,998 23,000 22,982 23,003 21,899
Hectares 4,785 8,732 9,299 4,721 7,938 6,606 9,284 9,296 9,306 Hectares 2:524 9:032 8’668 9:307 9:307 9:308 9,301 9,309 8,863
1A 1V 7.2 - 3.8 = 5.6 = 7.5 = 0.2 - 0.6 - 1.0 - [10.8 = 2,5 - [ - - - - - - - - - 2 - 2 - 0.5 = 2.5 -
1B v 8.2 - [19.8 = [I18.1 = |12,6 = 4.4 - |17.4 - |18.7 = 8.9 - 2.4 = 4.0 - :Q &v ,g:g - 0.3 = - - 0.1 - 0.1 = 8.. = 8.; - 0.1l - 1.0 -
Ic 8.2 11.0 10.0 44,0 25.9 25.2 41.8 71.7 12.1 12.7 Ic 39°3 0.4 - i 0.2 0.5 0.5 1.9 2109
1A VIA [40.4 - |19.4 - (42,4 - 8,5 - [55.8 =~ [26.7 = 0.7 = 2.6 - - - 0.1 - 1A viAa | 7507 - e - - - Bl = 0.l = 0.5 - 0.1 - M - 2 -
T e vie [17,9 - 4.1 - |13.2 - 7.2 - 6.0 0.1 |20.7 =~ 8.2 =~ 4.3 =~ [81.,7 - 72,8 - i T 18 vie 158 = |oa4.7 = lo3.2 = |71700 - [85:7 - |e6c0 - [s1.6 - 1401 - fa1,5 - T
9 VIIA 2,8 3004 Gk L2s] : - a3 96 sl 3] 9 9 VIIA 11.6 1.7 0.6 12.6 4.0 3.6 10.8 15.1 15.8 9
1IA vl - - - 0.5 - 0.l - o0, - - - - - - - - - - 0.l 1A viiel - ooz 0.3 - M - 2 - 0.1 - b - = - - - =
S :::g i 1.0 1.2 0.7 8.3 0.8 7.1 29,2 0.7 1.l 4.0 s S R HE i o o i 575 7 61 603 7 S
111D 11X - 3.5 - 3.1 - 0.6 - 0.l - 3. - 1.9 - - - - - - - - :::g Y;Il = 0.l - - - - - - = = - = - o.l . - - -
K1E O 05 2.5 - Sl b - 02 Bl 20 IIE 0.6 0.4 - - 0.3 2.1 0.3 - -
Acres 5,851 22,806 21,700 22,812 11,279 21,639 20,846 15,745 22,823 22,820 Acres 9,429 22,780 21,679 22,830 22,814 22,825 22,831 22,832 2,663
Hectares 2,368 9,230 8,782 9,232 4,565 8,757 8,436 6,372 9,237 9,235 Hectares 3,816 9,219 8,773 9,239 9,233 9,237 9,240 9,240 1,078
1A IV 0.3 =~ 3.7 - 6.0 - 8.1 - 4.8 - 0.7 - 4.3 - 4.8 - 2.8 - 8.5 - 1A v 0.4 = 0.1 = 0.1 = - - 0.1 = 0.3 - 0.7 = 0.6 = 5.3 -
1BV 26,0 = [30.6 = |14,2 = |17.6 = 6,0 - 4.9 - [14,9 - 1ol = 6.7 =~ [16.5 = BV 1.2 - . - 2 - 0.8 - 1.7 - 0.3 - 2 - 0.3 - 0.7 -
IC 15,8 28,0 27,1 50,1 16,7 7.2 25.4 59.7 4,1 56.6 Ic 5.2 0.2 - 0.9 7.5 0.8 0.3 0.2 1.1
11A VIA |42.2 - |21.,0 = 9.1 - (13,4 - [21.4 < |[59.1 - [26.3 - 2.2 - 0.1 = 3.0 - A vial ot - M - - a ol - : - 2 = - = 2 - 2 -
T 1B VIB 7.1 - 9.0 - 3.0 - 8.0 - 33.4 0.4 9.4 - 23,0 - 27.0 - 74.5 0.1 4.9 - T T 11B VIB [86.0 - 96.2 = 91.0 = 83.4 s 84.9 - 86.0 . 92.3 - 88.7 - 27.3 - T
VIIA 8.4 |45 38.3 ol 0.4 0.2 - 0.9 4,1 6.2 VIIA 2.1 2.9 . 6.4 0.3 0.8 3.4 1.0 15,2
10 1A viig| - 0.1 - 0.l - 0.2 - 0.l - - - - 0.l - 0.l - 0.3 - 0.2 10 10 1A viisl - ol - i - : - z - b - - b - : - z 10
S 18 0.l 2.4 1.0 [ 2,7 8.2 5.4 4.1 T.2 3.6 S S 1118 4.1 0.4 1.1 8.4 5.4 1.6 0.6 9.2 50 .4 S
e vy - - - - .- = w m T = = = - - - - - - 0.l e vin| - - - - - - - - - - - - - 18| = = - -
111D 11X - - - 2,5 - 0.6 - 0.2 - 1.l - 5.6 - - - = - o - = 111D IX - - . = = - = - - - - - - - - B 2 -
IIE - 1.2 0.5 0.3 ol 4.8 0.6 - - 0.3 1IE 0.3 0.1 - - - 0.1 0.7 - -
Acres 3,262 20,103 22,879 22,877 22,845 12,408 22,861 20,744 16,595 15,768 Acres 22,880 21,992 20,843 22,881 22,352 21,296 21,728 20,586 ,560
Hectares 1,320 8,136 9,259 9,258 9,245 5,022 9,252 8,395 6,716 6,381 Hectares 9,260 8,900 8,435 9,260 9,046 8,619 8,793 8,331 1,441
1Ay 5.8 = 7.3 - 32,9 - |25.6 - |2].6 - - - 0.2 - 6.4 - 8.7 - 9.2 - 1A IV 1.5 = 0.5 - 1.0 - . - 1.2 = 1.6 = 0.1 - 0.8 = 0.5 =~
1BV 2.6 - 1.5 = |'2,0 = 9.8 - 5= 1.0 - [l10.8 = 0.6 = |11,2 = 4,2 - 1BV 1.9 = 0.7 - 1.9 = 1.8 = 0.7 - 3.0 = 1.5 = - - 0.1 -
IC 22,0 1.2 2,8 25,8 12,7 0,2 64.1 61.6 16,5 19, Ic 1.7 0.3 0.8 .3 14,1 7.1 0.9 - 0.6
1IA VIA |45.7 - 24,4 - 32.3 - - - - - 0,5 - 4,1 - - - | .6 - - - 1IA VIA 0.l P 0.4 - 0.2 - - - - - 0.3 - 0.1 - - - - -
T 118 viB (20,3 0.3 7.6 o3 |21.5 0.1 [24.5 - 54,3 - 93,2 0,4 |11.4 1.4 (14,0 0.3 |51.,2 0.3 |58,6 - T T 11B VIB [37.5 0.3 |84.1 - 82,0 - 87.2 - 74 .0 - 76 .0 - 83.3 - 92.2 - 74.5 - T
11 VIIA 0.3 53.3 2,3 5.2 0.3 0.4 0.7 3.0 5.3 3.3 11 11 VIIA 3,0 7.0 7.4 5.3 6.1 4.7 6.0 4,3 20.3 11
1A vVIIB| - - - - - 0.l = = - = = 0.3 - - - 0.9 = 15 = 13 111A VIIB| = 12,2 - 2.0 - 0.6 - 0.2 - 0.2 - 0.8 - 0.2 - - - 0.l
S s 0.5 0.7 3.2 8.9 3.5 1.5 6.0 9.3 3.7 4,1 S S 118 37.9 5.0 6.2 5.1 3.6 4,6 5.2 2.7 3.9 S
e vini - 0.l - 0.l . - - - - - - - - - = - - = = - 1Ic Vi - 1.1 - - - - - - - - - 0.l - 1.2 - - - -
1110 1X - 2,3 - 3.7 - 2,7 - - - - = - - - - - - - - - 111D 11X - - - - - - - - - - - 0.2 - - - - - -
1IE - - - 0.4 - 2.3 1.2 4.0 = - 111IE 2,7 - - - - 1.7 1.6 - -
Acres 4,747 18,524 16,015 22,918 22,944 22,931 1,319 10,165 22,937 22,939 Acres 4,936 22,940 22,941 22,250 21,219 22,822 22,775 22,787 12,
Hectares 1,921 7,497 6,481 9,275 9,285 9,280 4,581 4,114 9,283 9,283 Hectares 1,998 9,284 9,284 9,004 8,587 9,236 9,217 9,222 5,128
IA 1V 7.3 - |21.9 - 25,0 - 28,5 =~ 2,7 - 0.1 = 2 . 2.7 = |13.5 - 0.2 =~ IA 1Y 0.l = 0.3 = 0.3 = 0.6 = 2,6 -~ 1.8 - 0.2 - |[l4.,4 - 1.0 =
IB v 6.9 - 8.6 - 15.4 - 14,5 - 6.5 - 2,5 - 8.1 - 5.0 1.1 |19,0 - 1.2 - T v 0.3 - 1.1 - 3.4 - 0.4 - 0.9 = 0.5 - 0.1 - 0.3 - 1.3 -
Ic 17.9 8.6 14,7 1.0 3.0 1.0 7.4 39.1 18.3 2,9 Ic 0.5 . 1.4 6.3 1.7 4,7 2.4 6.9 2.5
1A VIA | 2.5 - 0.8 = 3.4 - 1.0 = 0.1 - 0.1 = 0.1 = 0.2 7.7 | 13 = - - A VIA 2 - b - ol - 0.1 - 2 - M - 2 - 2 - 2 -
T 118 viB |40.0 1.1 |16.1 0.6 [19.2 - (28,5 10,8 [76.8 - (93,6 0.l (80,4 1,7 [20.,3 0.4 |37.8 0.4 [92.6 =~ T T 118 vie |85.3 0.1 [88.3 0.1 [89.1 - [57.9 - |[57.6 - |[80.4 - [92.4 - - 31.0 [91.8 = T
12 VIIA - 1.4 = 1.6 1.4 0.3 0.4 = 5.5 Il 12 12 VIIA 3.4 4.5 2.3 7.9 16.7 6.1 0.9 - 2.5 12
1A VIIB[ = = = i - - = = = = 0.3 - 0.9 - - - 1.8 - - 1A VIIB| = 3,1 - 0.5 - 0.4 - 3.3 - 2,0 - 0.7 - 0.3 [47.4 - - -
S s 24,2 30.0 22,1 14,1 9.4 2.1 [ 13.5 2,5 2,0 S S 18 6.9 4,2 3.1 23.6 8.5 5.3 0.5 - 0.9 S
1ic vitli - - - - - - - - - - - - - = = - - = = = 11iIc Vit - - - - - - - - - - - - - 1.2 - - - -
11D IX - 0.l - 1.9 - 0.l - - - - - - - - - - - - - - 111D IX - - N = - - - - - - - - - z - = = =
1IE - - - - - - - - = < 1IE 0.4 0.l - - - 0.4 2.0 - -
Acres 5,842 21,473 22,972 20,929 22,982 22,996 22,988 8,033 22,993 22,940 Acres 22,995 22,996 22,998 27,913 22,999 23,001 21,519 1,938 12,720
Hectares 2,364 8,690 9,297 8,470 9,30| 9,306 9,303 3,25' 9.305 9,234 Hectares 9,306 9,306 9’307 ||,296 9,308 9,308 8,709 784 5,'48
1A IV 12,3 - 4.5 - 0.8 - 0.5 - 0.2 - - - 0.1 - |19.0 - 4.9 - 0.9 - 1AV 0.7 = 0.6 = 0.4 = 0.3 = 3.4 - 1.4 - 3.3 - 0.3 - 1.9 -
B v 18,1 - 16,6 = 5.0 - 5.9 - 0.8 = 3.3 - 4.1 - 9.6 = |I13.1 = 2.2 - 1BV 0.8 - 8.1 = 0.9 =~ 1.4 - 0.4 -~ 0.2 =~ 1.9 = 1.9 = 0.5 -
Ic 1.8 7.4 5.6 3.0 1.6 0.6 3.6 10,3 20.! 3.3 Ic 0.2 2.2 5.4 1.2 8.7 1.4 5.6 4,5 2.6
1lIA VIA [56.1 0.3 9.7 - - - 4,6 - 2,6 - 0.6 - - - 0.l - - - - - 11A VIA 0.l - 1.8 - 0.4 - 0,1 - - - - - - - - - - -
T e vis - 5.8 [33.0 3.5 |46.1 2.8 [37.,3 3.0 [52.4 0.9 [79.4 0.5 [86.2 0.5 [54.1 0.1 |57.3 0.l [85.9 =~ T T e vie 7153 - 8357 - 71827 o0.1 [1309 - |74.3 - |os.s - [87.4 - |91.7 - [93.9 - T
13 VIIA T.6 - 0.l 36.8 29.0 12.4 |.8 4.9 2,0 2.3 13 13 VIIA 9.4 0.l 5.6 0.9 6.6 1.1 0.l 0.4 - 13
1A VIIB[ 4.1 - - 0,5 - 2. - 6.7 - 2.0 = 1. - 0.l =15 - 1.0 = 0.5 1A VB[ = 1.3 - 0.4 - 6.5 - 1.3 - 0.9 - 0.2 - - - - - -
S 1. - 24,2 37.5 2,0 10.5 1.3 3.6 0.3 1.5 4.8 S S 1118 11.9 2.1 2.0 5.1 5.7 2.1 1.5 1.2 1.2 S
1ic viti - - - 0.4 - - - 0.l B = - - - - - - - - - = 111 VIt - - - - - - - - - - - - - - - - - -
1D X 0.l - - 0.l - - = - - - - o - - = = - - - - 111D 11X . = = - - - . - - - - - - - - - - -
1IE - - - - - - - - - - 11IE 0.3 0.9 - - - - 0.2 - -
Acres 20,945 18,513 21,050 22,749 21,148 22,789 22,774 22,167 22,697 22,681 Acres 22,704 22,571 20,907 20,626 22,794 22,816 22,802 22,240 3,399
Hectares 8,477 7,492 8,519 9,207 8,559 9,223 9,217 8,971 9,185 9,179 Hectares 9,188 9,134 8,461 8,347 9,225 9,234 9,228 9,000 1,376
Townshipand Range Range Range Range Range Range Range Range Range Range Town- Townshipand Range Range Range Range Range Range Range Range Range Range Town-
Land cover class 58 W 57 W 56 W 55 W 54 W 53 W 52 W 51 W 50 W 49 W ship Land cover class 48 W 47 W 46 W 45 W 44 W 43 W 42 W 41 W 40 W 39w ship

* To determine area measurements for each land cover multiply the acre or hectare total by the percent land cover. Percent land cover may not add to 100 because of rounding error. * To determine area measurements for each land cover multiply the acre or hectare total by the percent land cover. Percent land cover may not add to 100 because of rounding error.



